)

=
A =

3} NHN
=2
=

o

.‘l

3

Al ol

2023. 7. 26.(%)

ME 7H2]
d, g4

YA
ar

TlRI
| LA ] A 7 (o]

HY 3
]

-
R

=

110}0

el o]

‘R

2] EF

i ZFA|
2@ 3))0]

o
=

Yo tAg de

Ed
.

=]
&

YEALR

T

A

8

Cj2|

EEAHE

oz Hxdie
HijAlR g F¢1 AololE ZEee] Mo

o
o

=

<

o

& (4o

T

A

vl O] AR (A 918

100 3

A

e
T
&

3

]
4l

A
-

]

EEAS)
WES) A f

A =2

EJIME

KCP) %

=
T

P

“

o]l= o
X—l‘dé‘t

-

gk NHN KCP

ol

;o

=
=

A8 Al

o)

T

A9 E](ChatGPT)e} %

]

x



1A TN
il 8 uﬂ Uw *
. N
- W e W g [0
o” An o) = 10_.# 1 +
R % 2 - [g|
Wy i Al o ik 4
of N bo o) X e of
g B3 op 5 |gz -
— o = r
By TET  E PR :
o g : =z W % mu
ST g = e
e : A
w1z .F Ty
5o BT S PR
w2 i)
# =T el
oy K ° 3
oy % 2 " 5
< s ] 51|
ﬂr - I |10
g - < o W =
= o s = .
__ oxX
A I - .
M w m o
X m_uﬂ = i :
N = S Ty < ;.
= F o o B 5
| ) %o :
e o B - ’
1 FIll %
r =" Py -
X ot N
ﬂ_.wﬂ Lj.h_wl ‘_#IQ_..# O#E X ﬂM A i
A R DR . HT
A L :
B W K ] i
o X T -




4
0
re
O

Xged us X E3

(il

ME Al

1

(2H

[ B

|5H

i
-0

O HEQlel ddet CIX|E 2l M U S AT Fet
£ CIXE 2clus A EIEME FH

Wt
o
N
rr
p =
%
0ok

=
T

% Aolo| AOIHES HHEBS 96%2 MAduiewdl HIGH SOLE Afo|HZ2iS Tjo|Lt
7

YHOZ 21439295k %1! 2+t ICIDBIMO $—§§|¥ 292 Ifleoz2dt MOJHE HEEAY
O 2
o (YA)) “23. 7. 26(57), 12:00~13:15 * =zt 0jg Hrloz X
o (B4) NHN KCP #AKA e 727 tAL2264 72)
o (SW4) NHN KCP 429 1004 ™

<Z2 ek At2| . EE|
Al 2t 1y 8 H| 2
ZE|

-00~12 ’ e N A7
12:00~12:05(05") ul= I (CIX|2 Q2| ZELAN

HEHi OlARY

(BMAS K s&=eH)

1205~12:30(25) | « A&l MHd Al &2

Jal
i
00
1

CE|

30~13: - ozl rxjgea
12:30~13:10(40) X E&E2 QA R O APR!

- Digital Quiz "D #= =2 § &&%"

13:10~13:15(05) | « OFF-2 T E|




